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| | | o 11,900

T2 AE 22 3,065,000 1,054,886 2,010,114
< 130,000
s 2,935,000

zTE - sHE &2 2,613,000 802,500 1,810,500
= 130,000
s 2,483,000

2 -sHEZRZ 2 HE 1,202,000 251,500 950,500

401 AIEHI L 201 1,202,000 251,500 950,500

01 A& Bl 1,200,000 250,000 950,000
OYI~sN2t T2EZEHIA 500,000
O&EW THOtA S A 100,000
OZE3RsH HEBEZZ HEZA 300,000
SHEZZE =otd (2068) ZE S A 300,000

03 Al S HHI 2,000 1,500 500
O - sHEZZ SHZZTAY 204 2,000

Ot ML= LI ZA 1,151,000 471,000 680,000

401 AIEHI L 2CHEI 1,151,000 471,000 680,000

01 A& HI 1,150,000 470,000 680,000
O&OlE MYE2 SHEZEIA 400,000
ORE0IES MAEZ SHELTIA 250,000
O2sits dL=2 FUlSA 230,000
O=24d 2ug MEX 150,000
OS4torS etz Fl 30,000
Ogx0ts 2 FH| 20,000
OSAMOtE 22 FHI 20,000
s30t2 22 Ed| 5,000
Ogs0S etz EHl 20,000
OZ&its a2 FHl 25,000

03 A& =TI 1,000 1,000 0
OltSdYEZ SZIAY R0 1,000

T2 QHEAIE FHIAY 260,000 80,000 180,000
= 130,000
s 130,000

401 AIEBI L 20HEI 260,000 80,000 180,000
= 130,000
[ia 130,000

01 A& tl 260,000 80,000 180,000
OYs=Eel & JFHRMSEX 60,000
< 30,000
e 30,000
Otz YL TAIE XA 200,000




M ALZHD
M z2A4d 2l

B 2 - sHE &2 (e H)
L3
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
= 100,000
= 100,000
AegEe 22l 452,000 252,386 199,614
2 ¥ sHEEZ A2 452,000 249,886 202,114
401 Al HI L 2 04| 452,000 151,000 301,000
Al & H| 450,000 150,000 300,000
O & sHEZ2 HUIZ2A 300,000
OzZE 2 sHEEE A2 150,000
03 Al 201 Y| 2,000 1,000 1,000
Oz 2 sSHETZ SA22 AIZ20] 2,000
SEME IR F 16, 144,863 11,588, 163 4,556,700
= 1,291,000
Xl 9,644,000
&< 936,000
= 4,273,863
S| BHA Y| 4,451,000 3,611,500 839,500
Xl 2,168,000
& 114,000
= 2,169,000
SHI|BIAIE &5 200,000 501,000 A 301,000
403 XX SHS K201 & 200,000 200,000 0
02 Z2I)|2SOUeHI =X EAS HI 200,000 200,000 0
020188 =gIIBAIE X122 HEAIY 200,000
I ZMEQITRH (I HSFHER) 300,000 100,000 200,000
N 210,000
& 45,000
= 45,000
401 AlEHIZL 2 0HY| 300,000 100,000 200,000
Xl 210,000
&< 45,000
= 45,000
01 Al&EH| 297,840 99, 100 198,740
OJIAHSEEE S E 297,840
Xl 210,000
o= 45,000
= 42,840
03 Al 201 Y| 2,160 900 1,260
OJIHSB &2 &ZA 2| 2,160
=SAHD|BHAEY| (DI BFAEHIAFY) 375,000 400,000 A 25,000
Xl 300,000
& 37,500
= 37,500
401 AlEHIZL £ 0HY| 375,000 400,000 A 25,000
Xl 300,000




SM: AEZHD
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& =Yg (=& J)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 37,500
s 37,500
01 A& HI 372,300 397,300 A 25,000
OEJIEHE HI ALY 372,300
Xl 300,000
< 37,500
[ia 34,800
03 Al 2 0HHI 2,700 2,700 0
OEIIBHEHIAY 20| 2,700
SIS (AMZelAEHE =) 1,760,000 312,500 1,447,500
X 1,408,000
s 352,000
401 Al HIZ 201 I 1,760,000 312,500 1,447,500
X 1,408,000
s 352,000
01 A& HI 1,754,000 310,250 1,443,750
O=&el =2lAd HESAY 1,754,000
Xl 1,408,000
i 346,000
03 Al S THHI 6,000 2,250 3,750
O=2el =2lAld HESAY 20l 6,000
SIS EH (=9 EXS MHHHIIBXH) 313,000 2,100,000 A 1,787,000
X 250,000
S 31,500
i 31,500
TAIEHIR R 313,000 2,100,000 A 1,787,000
X 250,000
< 31,500
s 31,500
01 A& HI 310,750 2,092,440 A 1,781,690
= XS THUH I BHXI & A 310,750
Xl 250,000
= 31,500
[ia 29,250
03 Al =2 THHI 2,250 7,560 25,310
O=2d LS MUt X ALY K& S| 2,250
SsEEgsNHEAS 1,503,000 0 1,503,000
401 AIEHI L 20HEI 1,503,000 0 1,503,000
1T AIZHI 1,500,000 0 1,500,000
SeE=g2sXHe 1,500,000
03 A& S THHI 3,000 0 3,000
OsEeEgsXHe 2 3,000
=& MzEd Fy 11,381,225 7,943,308 3,437,917
= 1,070,000
Xl 7,476,000
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01 At 2t 2l 6,920 9,046 N2,126
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OLEtSLUHEMNL ALY E2Hl 50,000 +102] 500
02 =24l 7,405 6,362 1,043
ONz2s DAFAX UHSIA L EIZ A 100
ON2sS DAHHAX SFU
1,2733 3804 *12& 5,805
Oes DA X KA 22l 1,500
202 4l 8,600 8,600 0
01 = LH YI 8,600 8,600 0
OsEANEgR =2 8,600
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201 LBr2g| 12,600 12,600 0
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01 =8l 30,000 30,000 0
Oonzs =M P2 30,000
401 Al HIZ 2018 156,100 126,100 30,000
01 A& HI 155,000 125,000 30,000
Otzs EXSA 120,000
OJt2E FHAE 35,000
03 Al SR THHI 1,100 1,100 0
OJI2E ALY 2l 1,100
I EMEQITRH( MEEHBFY) 2,730,000 693,000 2,087,000
Xl 2,720,000
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401 AIEHI L 2 CHYI 2,730,000 693,000 2,037,000
Xl 2,720,000
s 10,000
01 A& HI 2,720,000 689,500 2,030,500
OMestHZH ALY 0
OMesZHHI ALY 2,720,000
- (LE) MEE2ZTY 178,500
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Xl

M

390,000

390,000

273,000
117,000

,000

280,000

Xl

M

390,000

273,000
117,000

,000

280,000

403 TtXI M SA=01A

Xl

M

390,000

273,000
117,000

,000

280,000

Xl

HJ

390,000

390,000

273,000
117,000

,000

280,000

Mo A

143,000
100,000
10,000
33,000

1,346,

000

1,203,000

403 TR SHHSA=01H

Mo A

143,000
100,000
10,000
33,000

1,346,

000

21,203,000

U R

143,000

143,000
100,000
10,000
33,000

1,346,

000

1,203,000

BN ARl

1,885,000
1,320,000
254,000
311,000

765,

600

1,119,400

403 TtXI M S A =01 A

HHA

1,885,000
1,320,000
254,000
311,000

765,

600

1,119,400

A

1,885,000

1,885,000
1,320,000
254,000
311,000

765,

600

1,119,400

Mo A

1,134,000
794,000
163,000
187,000

639,

000

495,000

=

1,134,000

794,000
153,000

639,

000

495,000
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HJ

187,000

Mo A

1,134,000

1,134,000
794,000
153,000
187,000

639,000

495,000

oA

952,000
666,000
129,000
157,000

480,000

472,000

RUNL

952,000
666,000
129,000
157,000

480,000

472,000

HH A

952,000

952,000
666,000
129,000
157,000

480,000

472,000

B

HH W

1,199,000

900,000
89,000
210,000

333,000

866,000

403 AXHHSXH=0lA

HH A

1,199,000
900,000
89,000
210,000

333,000

866,000

H A

1,199,000
1,199,000

900,000
89,000
210,000

333,000

866,000

HH W

243,000
170,000
22,000
51,000

243,000

403 TtXI M SA=01A

HH W

243,000
170,000
22,000
51,000

243,000

MW

243,000
243,000

170,000
22,000
51,000

243,000

=

503,600
350,000

503,600
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=

M
2
==
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0y

35,000
118,600

M

401 AIEHIZ 2 I 503,600 0 503,600
350,000
35,000
118,600

Mo =

01 Al bl 500,000 0 500,000
OHALATHNL (B4 S2AY) 500,000
350,000

35,000
115,000

CH 8l 3,600 0 3,600
C|

R SEHL (2 2AY) 3,600

Mo A

HE ) 480,000 0 480,000
336,000
65,000
79,000

Mo A

403 AHXHHSXH=01A 480,000 0 480,000
336,000
65,000
79,000

Mo A

SOICHE Xt = & 2 & A S H 480,000 0 480,000
ESHNELsH(LBRR)(AESH) 480,000
336,000

65,000
79,000

oA

ESYANSE(LeN ) (HEH) 480,000 0 480,000
336,000
65,000
79,000

A

403 A X EHS K= 0l A 480,000 0 480,000
336,000

65,000
79,000

BN Rl

SOltHe Xt2 & 2 & AL H 480,000 0 480,000
ESHNELSH(LBA?)(EEH) 480,000
336,000

65,000
79,000

HHA

=
o
M
10
0H
Om
Mo
ton
J
=
=
11
>

M
2
L]0

110,000 0 110,000

77,000
33,000

A

403 AXIHHSH=0lH 110,000 0 110,000

Xl 77,000
33,000

M

2| EFAFS I 110,000 0 110,000
KIALS (AEHOLS) 110,000
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&l Z‘-—’E MEEH HH| (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 77,000
s 33,000
OISt sSSHSNAIE (HE0E) 110,000 0 110,000
Xl 77,000
s 33,000
403 UHXSHHSA=0l& 110,000 0 110,000
X 77,000
s 33,000
02 S 2SOICHSH A2 X 2 &AM I 110,000 0 110,000
ontsdZs2=EXNAE (HEDIS) 110,000
Xl 77,000
= 33,000
OISt SSA=XNAISE (BA40IE) 110,000 0 110,000
Xl 77,000
i 33,000
403 UtXISHH S A0l & 110,000 0 110,000
Xl 77,000
e 33,000
02 S 2SOHHEAEE 2 E AL 110,000 0 110,000
OntSHASs2=EXNAIE (E40IE) 110,000
Xl 77,000
s 33,000
DiSHASZ (F2MEN)AIE (M E0HE) 110,000 0 110,000
Xl 77,000
s 33,000
403 A X EHHS =0l A 110,000 0 110,000
Xl 77,000
[ia 33,000
02 SO 2SOIlCHEH A2 X 2 & A I 110,000 0 110,000
OltSHAZ (I M)A (M DIS) 110,000
Xl 77,000
s 33,000
Ot Ex=Z2 312,638 33,355 279,283
= 221,000
s 91,638
LT Y F2AE ZHES 20,988 18,030 2,958
101 14 dl 20,988 18,030 2,958
04 DI Z2XNHEE S 20,988 18,030 2,958
OM=X KX 2zl 20,988
- &= 60,3003 x6H +7I4 & 2,533
— &M 60,3003 *x9H x 1004 & 5,427
— e 60,3003 x6H 14 & 362
—&A 60,3003 *8H 84 & 3,860
—&dH 60,300 *8H »8IH & 3,860




2 AEHM D
M mEME YRS
Sl OYX 8433 (B9 ®R)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
- A 60, 300& 6% 304 & 1,086
— A= 60,300 *8H *8IH A 3,860
2 sxeel 11,700 1,700 0
307 212t0| & 11,700 11,700 0
02 A2 MAEE X 11,700 11,700 0
O=xclH s 2e 11,700
St b S = 276,250 0 276,250
= 221,000
= 55,250
401 Al HI YL 2 0HHI 276,250 0 276,250
= 221,000
= 55,250
01 A& HI 274,300 0 274,300
Oste bl SN ArS 274,300
= 221,000
= 53,300
03 Al& 201 1] 1,950 0 1,950
Oste bl S EAIY 20id] 1,950
Stoll &Hl 2401 KA 22 3,700 3,625 75
201 Yete2 | 3,700 3,625 75
02 352494l 3,700 3,625 75
Ostof &Hl L= |22yl 3,700
— &g 2D A 22| 600
— AMANE 22D KX 22l 700
— B AT X 22| 500
— & AI| KA 22| 400
—&8EH 24)| KX 22| 500
— A& 2AxD|] KX 22| 500
—H=8 24)| X224 500
NESAMEA G 705,595 888,564 AN 182,969
= 30,900
Xl 164,521
& 146,399
iy 363,775
XNESFH A5 705,595 888,564 N 182,969
= 30,900
Xl 164,521
& 146,399
iy 363,775
2tots & X9 EM 43 24,065 20,115 3,950
201 et A | 18,865 14,915 3,950
01 At 22l ] 18,865 14,015 4,850
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PN AL I T
3 NS Madst

el NG3NeEds (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

OFSANE AEE SR 22 2,000
OXSAE(4HAL) 2L 1,200,000 x93 10,800

401 Al HI R 201 I 10,000 50,000 A 40,000

01 A& Hl 10,000 50,000 A 40,000
ONSAE MEKRIANES 10,000

AME2e =201 29 38,124 22,080 16,044
< 11,437
i 26,687

301 et d = 38,124 22,080 16,044
= 11,437
s 26,687

NMIEEd= 38,124 22,080 16,044
OAN&E2el =0 38,124
< 11,437
s 26,687

NESSH Liel At 80,000 80,000 0
Xl 40,000
< 12,000
[ia 28,000

101 @124l 73,000 73,000 0
Xl 36,500
< 10,950
s 25,550

04 JI2ZtHZ22HEE = 73,000 73,000 0
OXNSESSHLC AL 73,000
Xl 36,500
= 10,950
e 25,550

206 M= Hl 7,000 7,000 0
Xl 3,500
< 1,050
s 2,450

01 =4l 7,000 7,000 0
OXESSHL el ALY 7,000
Xl 3,500
= 1,050
s 2,450

FELRel A 94,200 46,800 47,400
< 37,680
[ia 56,520

307 21201 A 94,200 46,800 47,400
= 37,680
i 56,520

02 YAFAAFEX 94,200 46,800 47,400
OFEHY N3 AY 70,200
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=

i
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M
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28,080
42,120
24,000

9,600
14,400

Mo

49,680

19,872
29,808

36,000

13,680

307 glztol &

EURLY

49,680
19,872
29,808

36,000

13,680

M

49,680

49,680

19,872
29,808

36,000

13,680

Mo A

130,000
40,000
37,000
53,000

130,000

307 glz2tol &

Mo A

130,000
40,000
37,000
53,000

130,000

40,000,000& #2H 2=

HH =

EUNE

130,000
80,000
40,000
12,000
28,000
50,000
25,000
25,000

130,000

Mo R

44,142

30,900
5,297
7,945

30,320

13,822

307 21201 A

Mo R

44,142
30,900
5,297
7,945

30,320

13,822
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44,142

30,900
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M XNEHHEAG
el NG3NeEds (cho &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 4,200
= 9,800
HNEANE SFHEH XS ALY 2,600 0 2,600
== 1,300
= 1,300
307 2Iz2t0| A 2,600 0 2,600
= 1,300
= 1,300
02 QI AAIE E X 2,600 0 2,600
OFESANE SHEM XA 2,600
& 1,300
= 1,300
S2HA =24 2@ 29 1,027,577 1,057,505 N 29,928
S 2CHX 22 1,027,577 1,057,505 N 29,928
=3 X e 1,027,577 1,057,505 N 29,928
101 121 H] 3,257 1,865 1,392
04 JI2ZtHIZ2 2 NEE S 3,257 1,865 1,392
Os3HX s72&22 € =&Y
60,300 *3JH A *3H 2 «33| 3,257
201 B9 13,000 13,000 0
01 AF2 2t 2| H| 3,000 3,000 0
OsZ2CHX 22 ¢ g8 5,000& *3000H x2= 3,000
02 232%4| 10,000 10,000 0
Os3HX 2329H4| 10,000
206 M EHl 1,320 2,640 N 1,320
01 XHZ Hl 1,320 2,640 AN 1,320
OsZ2CSX M=sAAE 22 1,320
—Hz3¢ 20,000& 20 13| 400
— A2 ESHPL 14,0002 *40Y * 13| 560
—ZORI| WE Y 2y DA
180,000& 2 X % 13| 360
401 AIEHIZL £ 0HY| 1,010,000 1,040,000 A 30,000
01 Al&H| 1,010,000 1,040,000 A 30,000
O&4+=2CH1X o= |oX 23 1,000,000
Os3S X |A22d| 10,000
sAJ|lgsd 149,637 140,536 9,101
== 12,000
= 137,637
SAIEELEXA 85,000 80,000 5,000
AMZO XY SUAESAMY 85,000 80,000 5,000
306 =132 50,000 50,000 0
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307 21201 A 35,000 30,000 5,000
08 OIXt2 & = 35,000 30,000 5,000
OSdEZs sMHldz XNEES 35,000
olziory NRAYs 64,637 60,536 4,101
< 12,000
s 52,637
S840 BEFLHAY 40,000 40,000 0
< 12,000
s 28,000
307 2I2+0 & 40,000 40,000 0
< 12,000
= 28,000
02 IS AHE L 40,000 40,000 0
OE4dstn FESLHAY  40,000,000& =14 1 40,000
< 12,000
e 28,000
SSEHA FHALYEA HHXI ALY 24,637 20,536 4,101
101 14 Hl 24,637 20,536 4,101
04 JIZHHZ22XEES 24,637 20,536 4,101
Ol 63,9003 1 »246 15,720
OResgdsd 63,9003 1«52 3,323
OssSst=¢% 63,900& x1H »102! 639
OZFZ =l 200,000& »23| 400
o8z 2,555
Ogd & wsHl 2,000
HE2IAZH (AL Z M) 42,716 385,232 A 342,516
el 2l 5,100 352,916 A 347,816
ol 2| 1,000 1,000 0
101 @124 dl 1,000 1,000 0
03 RIAHAZZ2THE = 1,000 1,000 0
OEXN=Edg:R =& 1,000
T2 2 4,100 351,916 A 347,816
101 @124l 4,100 351,916 A 347,816
03 RIAHAAZZRHE > 4,100 351,916 N 347,816
O&E=2 KA22l ol 2,000
Oz zeld Il=Hl 2,100
— o=l 150, 000& »7H 1,050
— Ot& St 150,000& =7 H 1,050
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OAFRESHI 1,500
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02 3324l 860 1,100 A 240
OAtS 4 FHHl 500

O=gE GPS 2EENE =48 Ols8tR=

30,000& »12& 360

202 o4 Hl 12,960 11,520 1,440

01 SLHOHI 12,960 11,520 1,440
FAN2E =W HI 12,960

203 R =&H| 5,040 4,200 840

04 EAEEY R 5,040 4,200 840
ORM2E YL 420,000& 122 5,040
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